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ECONOMICS

Paper : ECOO1OO1O4

( Introductory Economics )

Full Marks : 6O

Time : 2Yz hours

The figures in the margin indicate
. full marks for the questions.

Answer either in Engtish or in Assamese.

1. Answer the following questions : lx8=8
\rqs fi$ a{TTES EsE frtt s

(a) . What is supply ?

mtailq frr

(b) Mention one cause of shift in demand
curve.

, HRfl 6{"aiK Rl{tsffi qA sK"i €?m?i s-{tr

Contd.



Choose the correct answer :

GST is alan (direct/indirect)
tax.

str Ets-<(tr <rR Bfre<r g

GST tqQ .qbf 

-, 

(eficp7a16q6; 6;
Mention one canon of taxation as given
by Adam Smith.
qthlr fucr{:q-6o GK eU eq <t kftEj ftr
Fill in the blank :

NDP at factor cost is (Domestic
Income/National Income).

.flfi,R gq wr:
s"m{ <ltrtr NDP r<q (T<t qr/
{rfrr qr) 

r

(fl What is .ex-ante, savings ?

'ex-ante'qsp{ frg

(g) Write True or False :

When dernand is perfectly inelastic,
elasticity of demand (ea) is zero.

sh cT qsh fr.tt s

c{e-Tf EfR?t T.tfu< qRFqr"m En, Nfu
ErRrK eBqprqsr (ed T{ qs r
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,

@ What is the main cause of
unemployment according to Keynes ?

(<Ft+5 nN fi-q{f rr{rf{ 1a om"t frr

Answer ang six of the following questions:
2x6=12

(a) What is opportunity cost ? Give a
suitable example.

{r$a <r{ fr ? ..{a €qF €qR<q fifl 
'

(b) Write ttuo key characteristics. of
monopoly that distinguishes it from
perfect competition.

qsmfir't{qFK fil etn {E ?<ftB €rs"r $-{t

fox t{qW*otqqs (qFFr "m q{l$ lar$
s-Fr

(c) Define 'primary deficit'.

'q1qfr-q qtF< xgt fr{t I

(d) Why is production possibility curve
(PPC) concave to the origin ? Explain.

$qexq{ qsKfiR-st c<{t (ppc) Rr eR-< "t{t
q'<Edl <il{il S-{t t
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(c)

2.
(d)

(e)



Point out two differences between
capital accounts and current accounts
of balance of payments.

cq;l-ffiffi IIgK TE{fr fui"f qr+ trhE foiq<
TME fA flcfui 6n.1.eil r

Define producers, surplus.
$qexqa-a <tR< qiw.I fr<tf r

Suppose GDp is Rs. S,00O. Domestic
residents receive factor payments from
abroad of Rs. 250. Foreigners receive
Rs. 100 as factor payment from this
country. What is the value of GNp ?

<Kf qh Rs. 5,OOO t<q cop I Ts-<t W<.ffi(n
fuffi eRI Rs. 2so q6{ s-F \Tfs Rcr,firl
eQ fi-R et{f Rs. 1oo w6q sr< I GNp< Tq]
fta;a q! z

(h) Define multiplier.

e6r$-{ {(@.i fr{ I

(i) Mention ang two reasons behind shift
in aggregate demand (AD) curve.

TNA-+ HRni (AD) FrrK Enls{-d frrctm N
+T<"1 Brgq <i<.t r
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(j) Define purchasing power parity (ppp)
with example.

€nq<qTq sl {G qroi (ppp)< qie.t firt r

3. Answer ang four of the following questions :

5x4=2O
EEs fir'f q{qxs fuleqt,/fiar E-s< frcff s

(a) Distinguish between National Income
and Domestic Income.

TfST \rl{ \Tf$ q-$<t qEK 
"ffcfol fr:n r

(b) State and explain the central problems
of an economy

q?H qcfr&< m-fir llqlq{q fr?il W$ <I?R.f
qI'KAKI

(c) Explain the characteristics o? perfect
competition.

l"f effiuXq-o {q.K{ ?<FiEqTq <tct r Gt r

(d) Explain direct taxes and indirect taxes
and mention two rnerits and two
demerits of both the taxes.

ersrs. qt$ ems s< <].f?B.t s<.t qi$ ri1fu uRvtq$ \n{1?<I S-cs?t $-{ir
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(e)

a

(g)



(e) How is market demand curve derived

if two individuals have different demand

curves for the same Product ?

q(s<F{q<r qBt q'Nfi< s& {fr rRfi <],e<

Bq<<.r< utRrt c<'fl< IE q{, csrs {qFt
EtRqt 6$<[ frqr< t0s qk <6t +<t I

Explain average propensity to consume

(APC) and marginal ProPensitY to

consume (MPC) with the helP of a
suitable diagram.

a-\5 cgta eFrqq (APC) ql<p ffis cstfl er<qst

(Mpc) {K"il FtBqTs= trq< qEfi\5 <l't"I't s-{tt

Distinguish between Elasticity of
Taxation and Buoyancy of Taxation.

+-{< Q&Et'l-$st ql$ s<FI sfRq< "ffcfu
6nts<l r

Derive the formula of income elasticity

of demand. If income elasicitY of
demand is negative, what does it
signify ?

DtRnK qr Qfuqt"r$rgx W fr{<q +<I I {fr
DtRnK q.lx Q&={t"f$-ol fr6gego qr, F(st

a

(g)

@

4. Answer ang tuto of the following questions :

lOx2:20

EEE ft{t frrctrqt nFf am Brs< fr"tt s

(a) State and illustrate the law of demand
using demand schedule and demand
curve. What are the exceptions of the
law of demand ? 6+4= 10

HR?t frfncil fi"ff r Erfur q-flft \fl$ Erfur (s<fm

qQrs Hfut ffi <n"lit s-{t I EIfuI ffiq @nqE
ftfrr

(b) Describe Keynes' General Theory of
Employment and Income with the help
of a diagram.

trq{ q-{rs me{F frcrtetqrc qrl-{ qt{grfi{
EvrA< R-+<q fim r

(c) Narrate the steps involved in estimation
of national income by Expenditure
Method of national income accounting.
What are the precautions to be
undertaken in this method ? 6+4--10

<t$rqH offiK <l-{ qE&<R&a "fimaqg<
Ra<q fi$ r e? qaft\o E"nfu {K${slq{{
fr'ftt
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